3} ol

L = e
Zrg el |eolrt 6o &
BD 9] Zol&

Alze] Aol7t 5 Q1 24}
0] [LH 11/\].71—0:]_,] 1:H71—/\—]

o]-/\]

S5cm

A

/
1

\

B






A
:
I
I

cm



o 11__8‘_131;(]] 3| Aoﬂ/ﬂ ztﬂ'o]-oq CiD%
AU A G o BRet A8 AE ol
H?
@ Visl @ V182 @ V183
@ V14 B /185




5.

o}8 Tl cosd — ? SE
AH=12, BH=4+3 < o, AC ¢ Zdo|x?
B
)
4@
\
Al
A_\le__/,H C

@D 10 ® 12 3 14 @ 16

B 18



e sin cos tan
44 0.6947 0.7193 0.9657
45 0,7071 0,7071 1,0000
46 0,7193 0,6947 1,0355
O 1.022 @ 6.947 ® 7.071

@ 9.567 3 10.355



@ a?+c2 =y

@ b2 =22



ol

ofg

H

AL

® CF=3

@ /DEF = /DFE

® /A’EF =90°



9. os I2™AA x 9] 27

@5«/ﬁ 7V15



10.

the 273 2ol A g
T2 FH 0 A 5om w2
e o) A7) wHel

4
e
=
k=

°]7} 13cm <1
ojl7l yHoZ

-5foda},




11. tanA = V3 & 1}, sin? A — cos?2 A 2] gt

)

Mo

N



12.

57

@D 12V3cm?
® 16 V2cm?
©) 12\/§cm2

@ 16V3cm?
@ 12v6cm?



